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| lepeMeHHble XPaHAT
CCbITIKV Ha OO BbeKTbl






KaK NoJTy4YnTb KOMKO™?
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print(a)
print(b)
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| akoe KonmMpoBaHMe Ha3bIBAETCA
NOBEPXHOCTHbLIM (Shallow copy)



Konms npw nomoLLm copy.copy()

/ICXOOHbIN KOL, [ lamaTs

Lmport copy

d = [1, [Za 3]]
b = copy.copy(a)

b[1][0] = 4
print(a)
print(b)




Konms npw nomoLLm copy.copy()

/ICXOOHbIN KOL, [ lamaTs

— 1540,
o

p[1][0] = 4 _—
print(a)
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Lmport copy

d = [1, [Za 3]]
b = copy.copy(a)




Konns npw nomoLLy copy.deepcopy()

/IcXoOoHbIN KO [lamMaTb

Lmport copy

d = [1, [Z) 3]]
b = copy.deepcopy(a)

b[1][0] = 4
print(a)
print(b)




Konns npw nomoLLy copy.deepcopy()

/IcXoOoHbIN KO [lamMaTb

Lmport copy

a=1[1, [2, 3]] 1. ¢
b = copy.deepcopy(a) 15\53
b[1][0] = 4

print(a)
s

Lst()



Ho nHoroa navxke copy.deepcopy()
HEeOCTATOYHO ryDOK



BETBNEHNSA U LINKIbI



YCJ10BHbIE Bblpa>KEHNSA

1f_stmt ::= "1f" expression ":" suite
( "eli1f" expression ":" suite )*
["else” ":" suite]

sulte = stmt_lLi1st NEWLINE

| NEWLINE INDENT statement+ DEDENT
stmt_Li1st NEWLINE | compound_stmt

simple_stmt (";" simple_stmt)* [";

statement
stmt_1l1ist



L lnkn while

while_stmt ::= "while" expression sulte

["else" ":" suite]

"break”
"continue”



| lnkn for

target_list "1in" expression_list
L I | I | SUite]

for_stmt ::= "for suite

["else



YCcTponcTBo umknia for

product = 1

L = 1ter([1, 2, 4, 8])
product = 1 while True:
for 1 1n [1, 2, 4, 8]: try:

product *= 1 product *= next(1)
print(product) except Stoplteration:
break
print(product)




QOyHKLUNN



str.format




